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1
}~ßoÿ÷
0PIÿC1020[ÿ÷mßþÿ÷m_ßþÿÿÿ÷m¿}ÿ÷m_¿}ÿ]×
100

ÿ 111.0 109.2 115.4

2
��kmÿ÷
0PIÿC1020[��kmÑÿÿ÷mßþÿ×�ýÏßþÿ]×100

ÿ 0.0 0.0 0.0

3
m×ÿ÷
0PIÿC1180[m×Ïwÿm×¬õ]×100

ÿ 257.5 184.1 356.4

4 OmõëÚÿ�|ßþÿ÷
ÿþ¯}ï~�±~Omõ_�SÑÿ�|ßþÿ×100

ÿ 32.0 14.1 48.2

5 ýÑÞß÷
0PIÿC1130ÿß�[ïÿ�|ßïÿ×100

ÿ 107.8 105.7 112.9

6
�|ßï
0PIÿC1150[}~¿}ÿÿ×�ýÏ¿ÿwýz¸sO}ÕúwßïÿÖ
�Ïm¿ÿ÷�_×Ñ{uÿ]ÿ~�oß|ß

×/· 140.2 143.3 132.5

ÿÿÛyûÛß{·y»þ{t{ÿy»ß~

R4-R6 R7-R9

7 �Wë}y}ïþ
0PIÿA1010ë}y}ïþÿë}y}nÛÞu

mg/L 0.4 0.4 0.4

8
o�{ÿÿÿÿÿïþ|îÿþÿ÷
0PIÿA104
[ÿ£ �|{~o�{(TOC)ïþÿÿÿ�|{uÿÿ|îÿþt]×100

ÿ 20.0 20.0 19.0

9 |þ~|îÏeþu
0PIÿA3010~�|þ|îÏeþu

þ 0 0 0

ÿÿ}û{�t|Ó²°»�±~þ{t{ÿy»ß~

ÿÿ ÿÿ

10
ÿ�ûï~��ù\ûï÷
0PIÿB606-2
ÿÿ�ûï~vq��ù\g~r»ûïþ÷ÿÿ�ûïþ÷ÿ×100

ÿ 63.5 69.3 60.6

11 ÎÓO~��ù\ûï÷
ÿÎÓO~��Wÿbuÿÿ×jíÿbuÿ×100

ÿ 48.0 56.0 43.8
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